-

)

73 "

> 2
(B, 3
fn £ <«
FD & %
mSMU
w =
g 8 &
Q n T
aﬂ m

| S

M T

=

Barry Stoodiey Pty Ltd



Barry Stoodiey Pty Ltd
DD

G0 THE DISTANCE.

TRAILER AIR SUSPENSION
Spare Parts
us14
ITEM PART NUMBER DESCRIPTION

1 2501196 HANGER BRACKET

2 2501200 AIRSPRING PEDESTAL STD
*2A 2501046 AIRSPRING PEDESTAL 65 mm OFFSET

4 2501215 AXLE SEAT

6 2501237 U-BOLT PLATE LEFT

7 2501224 U-BOLT PLATE RIGHT

8 2501103 PARABOLIC TRAILING ARM
8A 2501189 PIVOT BUSH

8B N/A SAFETY CLIP (c/w 2501103)

9 2501109 U-BOLT

10 2501213 HIGH NUT M24X2 - 10.0

11 2501212 WASHER M24

12 2501192 SHOCK ABSORBER

13 2501202 AIRSPRING

14 2501230 BOLT M20 X 2 X 240 - 12.9
15 2501234 NUT,20X2-12.0

16 2501229 BOLT M20 X 2 X 170 - 12.9
17 2501233 WASHER M20

18 2501226 PIVOT BOLT

19 2501228 LOCK NUT M27 X 2 - 8.0

20 2501210 BOLT M12 X 60 - 8.8

*20A 2501141 BOLTM 12 X 45-5.0

24 2501203 WASHER M12 SPRING

25 2501204 NUT M12 8.0

26 2501227 WASHER M27
*27 - 12501047 AIRSPRING SUPPORT 65 M OFFSET
28 2501193 SHOCK ABSORBER BUSH '

* Not Shown - For Twin Wheel Application Only




Barry Stoodiey Pty Ltd

GO THE DISTANCE.

TRAILER AIR SUSPENSION

Spare Parts
Holland Air U524 Series




Barry Stoodiey Pty Ltd
Jolon,

00 THE DISTANCE.

TRAILER AIR SUSPENSION
Spare Parts
U524
ITEM PART NUMBER DESCRIPTION

1 2501195 HANGER BRACKET

2 2501200 AIRSPRING PEDESTAL STD
2A 2501046 AIRSPRING PEDESTAL 65 mm OFFSET
4 2501217 AXLE SEAT LEFT

5 2501216 AXLE SEAT RIGHT

6 2501223 U-BOLT PLATE

8 2501177 PARABOLIC TRAILING ARM
8A 2501189 PIVOT BUSH

8B N/A : SAFETY CLIP (c/w 2501177)

9 2501109 U-BOLT

10 2501213 HIGH NUT M24X2 - 10.0

11 2501212 WASHER M24

12 2501192 SHOCK ABSORBER

13 2501202 AIRSPRING

14 2501230 BOLT M20 X 2 X 240-12.9
15 2501234 NUT,20X2-12.0

16 2501229 BOLTM20X 2 X 170-12.9
17 2501233 WASHER M20

18 2501226 PIVOT BOLT

9 2501228 LOCKNUT M27 X2-8.0

20 2501210 BOLTM12 X 60-8.8 '

*20A 2501141 BOLTM 12X 45-5.0

24 2501203 WASHER M12 SPRING

25 2501204 NUT M12 8.0

26 2501227 WASHER M27
*27 2501047 AIRSPRING SUPPORT 65mm OFFSET
28 2501193 SHOCK ABSORBER BUSH

* Not Shown - For Mn Wheel Application Only




